KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

CONFIDERTIAL

Form ACO-1 September 1999 Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORICIAL

	VIII
Operator: License # 3842 LARSON OPERATING COMPANY	API No. 15 - 159-22438-0000
Name: A DIVISION OF LARSON ENGINEERING, INC.	County: RICE
Address: 562 WEST HIGHWAY 4	N/2_NW Sec28 _ Twp18 _ S. R9 □ East ⊠ West
City/State/Zip: OLMITZ, KS 67564-8561	4 800 feet from NORTH Line of Section
Purchaser: GARY-WILLIAMS ENERGY CORPORATION	feet from WEST Line of Section
Operator Contact Person: TOM LARSON	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 653-7368	(circle one) NE SE NW SW
Contractor: Name: PETROMARK DRILLING, LLC 1 Lb U 4 2	UJ5 Lease Name: COLBERG Well #: 2-28
License: 33323 CONFIDENT	TALField Name: COW CREEK
Wellsite Geologist: STEVE DAVIS	Producing Formation: ARBUCKLE
Designate Type of Completion:	Elevation: Ground: 1717' Kelly Bushing: 1723'
X New Well Re-Entry Workover	Total Depth: 3333' Plug Back Total Depth: 3288'
X Oil SWD SIOW Temp Abd.	Amount of Surface Pipe Set and Cemented at 325 Fee
Gas ENHR SIGW	Multiple State Cementing Collar Used? ☐ Yes ☒ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to w/ sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit) 5.3.07
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
Plug Back Plug Back Total Depth •	Chloride content ppm Fluid volume bbls
Commingled Docket No	Dewatering method used
Dual Completion Docket No.	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name: FEB 0 7 2005
	Lease Name:License New DIVISION
10/21/2004 10/26/2004 1/4/2005	Quarter Sec. Twp. S. R. WICHTALAST West
Spud Date or Pate Reached TD Completion Date or Recompletion Date Reached TD Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workover information on side two of this form will be held confidential for a period of	with the Kansas Corporation Commission, 130 South Market-Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regular herein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature Thomas HFestal	KCC Office Use ONLY
Signature: /// / / / / / Signature: // / / / / / / / / / / / / / / / / /	Letter of Confidentiality Attached
Title: SR. GEOLOGIST Date: 2/4/2005	If Denied, Yes 🗆 Date:
Subscribed and sworn to before me this 4TH day of WY MC	, Wireline Log Received
2005. 1. SACI 18 ANOTA	Geologist Report Received
Notary Public Tommy M Jadger	UIC Distribution
Date Commission Expires: 2/05	

Operator Name	LARSON : A DIVISI	ON O	RATING F LARS	G COMP	PANY GINEE	RING, I	NC.		_ Lease Na	ime:(COLBERG		Wel	II #:2-28	
Sec28	_ Twp						ast 🛛 W	est	County:		RICE				
tool open and c	losed, flowing gas to surfa	g and ace tes	shut-in st, alon	pressu	res, wł	nether sl	hut-in pres	ssure rea	ched static I	evel, hyd	rostatic pres	s of drill stem tes ssures, bottom ho opy of all Electric	ole temperatu	re, fluid recovery,	
Drill Stem Tests (Attach Add		ts)	×	Yes		□ No		Ø	Log	Fo	rmation (Top	o), Depth and Da	tum	☐ Sample	
Sample Sent to	Geological S	Survey	/ E	Yes		□ No)	Name TOP	EKA BNER				Top 2458 2731	Datum -735 -1008	
Cores Taken] Yes		⊠ No	,	DOU	IGLAS				2767	-1044	
Electric Log Rur (Submit Cop			. 🗵	Yes		□ No	•	LANS	WN LIME SING UCKLE	CANSAS C	RECEIV	ED	2857 2881 3242 3333	-1134 -1158 -1519	
List All E. Logs Run: DUAL INDUCTION DUAL COMPENSATED POROSITY MICRORESISTIVITY BHC SONIC					FEB 0 7 2005 CONSERVATION DIVISION WICHITA, KS										
						RECO		_	New ce, intermed	Used	duction etc	•			
Purpose of strir	string Size Hole Size Casing V			We	eight s./Ft.	Setting Depth	lor, surra	Type o Cemen	pe of # Sacks Type s			ype and Perce	ent Additives		
SURFACE	12-1/	4"	8-5/8			28 '	325'	CLAS	SS A		175	2% GEL & 3	2% GEL & 3% CC		
PRODUCTION	N 7-7/8" 5-1/2			1	4	3329'	ALW ASC			100 100		1/4#/SK FLOCELE 5#/SK GILSONITE & 3/4% CD-31			
														- La Contraction C	
	·				1	ADD	ITIONAL	CEMEN	TING/SQUE	EZE REC	ORD				
Purpose: Perforate Protect C Plug Bac Plug Off	asing k TD		Top	epth Bottor	n		Туре	e of Cem	ent	#	Sacks Use	d Ty	pe and Perce	ent Additives	
			DATIO	N DECC	\	Dridge	Divers Cate	/T			Acid Front	ura Shat Cama	unt Saucozo	Poperd	
Shots per Foot PERFORATION RECORD – Bridge Plugs Set/Type Specify Footage of Each Interval Perforated									Acid. Fracture, Shot, Cement, Squeeze Record (Amount and Kind of Material Used) Depth						
4 JSPF	3247 - 52								250 G	AL 20%	MCA		KC	C	
4 JSPF	PF 3256 - 58								250 G	iAL 15%	MCA	FEO 0	1 1005		
4 JSPF 3258 - 62							250 GAL 15% MCA								
-													CUNLINI	ENTIAL	
TUBING RECOR				3/8"	S	et At 3285'	Р	acker At			☐ Yes	⊠ No			
Date of First, Res	umed Produ 1/4/05	uction,	SWD	or Enhr.	P	roducin	g Method			~ *				Other (Fundain)	
Estimated Produc Per 24 Hours		0	il 8	Bbls	,	Gas	Мо О	cf	☐ Flowing Water	Bbls.	⊠ Pumpir	g Gas-Oil Ratio	Lift .	Other (Explain) Gravity 42	
Disposition of Gas								METH	OD OF COM	PLETIO	<u></u> V			Production Interval	
☐ Vented If vented, sub	☐ Sold omit ACO-18.)	☐ Use	ed on Le	ease		□ Оре	en Hole	⊠ Perf		Dually Co	mp. 🔲 Cor	mmingled [*]	3247 - 62 OA	
							☐ Oth	er (Spec	ify)						

ALLIED CEMENTING CO., INC.

P.O. BOX 31. RUSSELL, KS 67665 PH (785) 483-3887 44 (785) 483-5566

RECEIVED DCT 2.8 200

INVOICE

Invoice Number: 094920

Invoice Date: 10/27/04

KCC :

RECEIVED KANSAS CORPORATION COMMISSION

FEB 0 4 2005

FEB 0 7 2005

CONFIDENTIAL

CONSERVATION DIVISION WICHITA, KS

Sold

Larson Operating Co.

To: 562 W. HiWay #4

Olmitz, KS

67564

Cust T.D.: ...: Larson
P.O. Number Colberg 2-28
P.O. Date 10/27/04

Due Date: 11/26/04

Terms...: Net 30

Item I.D./Desc. Qty. Used	Unit Price Net TX
Common 175.00	SKS
Gel 4.00	SKS 11.0000 44.00 T
Chloride 5.00	SKS 33.0000 165.00 T
Handling 184.00	SKS 1.3500 248.40 E
Mileage 27.00	MILE 9.2000 248.40 E
184 sks @\$.05 per sk per mi	
Surface 1.00	JOB 570.0000 570.00 E
Extra Footage 27.00	PER 0.5000 13.50 E
Mileage pmp trk 27.00	MILE 4.0000 108.00 E
TWP 1.00-	EACH 55.0000 55.00 T

All Prices Are Net, Payable 30 Days Foll wing Subtotal: 2826.05 Date of Invoice. 1 1/2% Charged Thereaft r. · 103.18... Tax...: If Account CURRENT take Discount of \$282.60 Payments: 0.00 ONLY if paid within 30 days from Invoice Date Total ...: 2929.23

282.60 2646.63

XDRLG □ COMP □ W/O □ LOE

ACCT #

APPROVED BY

ALLIED CEMENTING CO., INC.

PO. BOX ST RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

KCC FEB 0 4 2005 CONFIDENTIAL

RECEIVED NOV - 5 2004



Invoice Number: 094979

Invoice Date: 10/31/04

RECEIVED KANSAS CORPORATION COMMISSION

FEB 07 2005

CONSERVATION DIVISION WICHITA, KS

Sold Larson Operating Co. 💢 562 W. HiWay #4 To: Olmitz, KŠ 67.564

Cust L.D..... Larson P.O. Number.: Colberg 2=28 P.O. Date: 10/31/04

Due Date.: 11/30/04

Terms.... Not 30

			《学》中的社会文化的社会文化的文化的文化的文化文化文化文化文化文化文化文化文化文化文化文化文化文化文化
Item I.D./Desc. Qty. Used	Unit	Price	Net TX
ALW 100.00	SKS	7.3000	730.00 T
ASC 100.00	SKS	9.8000	'980.00 T
CD-31 50.00	LBS	5.5000	275.00 T
DeFoamer 16.00	LBS	5.2500	84.00 T
ASF 500.00	GAL	1.0000	500.00 T
KolSeal 500.00	PER	0.5000	250.00 T
FloSeal 25.00	LBS	1.4000	35.00 T
Handling 223.00	SKS	1.3500	301.05 E
Mileage (30) 30.00	MILE	11.1500	334.50 E
223 sks @\$.05 per sk per mi			4400 00 -
Production 1.00	JOB	1180.0000	1180.00 E
Mileage pmp trk 30.00 Rubber Plug 1.00	MILE EACH	4.0000	120.00 E 60.00 T
Rot. Head 1.00	EACH	75.0000	75.00 T
All Prices Are Net, Payable 30 Days Followin	a Subt	otal:	4924.55
Date of Invoice. 1 1/2% Charged Thereafter.		:	188.31
If Account CURRENT take Discount of \$ 492.4		ents:	0.00
ONLY if paid within 30 days from Invoice Dat	e Tota	1:	5112.86
		•	492.45
			4620.41
□ DRLG XCOMP □ W/O □ LOE			
AFE #		•	
ACCT # 137/60	•	•	
APPROVED BY 1.C. Jarson		•	
		· · · · · · · · · · · · · · · · · · ·	